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R9

100 ohm

D2
1N4148

D3
1N4148

1

2

P1

D1
SB1H90

C1

47 uF

+15V

Q3A

BCM56DS

Q3B

BCM56DS

Q4A
BCM56DS

Q4B
BCM56DS

Q1...Q4: four times BCM56DS (DSF/DSX) or two
times THAT 300 (300S14-U or 300P14-U)?
BCM56DS is far cheaper than THAT 300 and
has a pretty low base resistance, but I don't
know exactly how low.

L1

BLM21RK102SN1D?

L1, L2: some sort of high-loss ferrite bead that is used as a base stopper, if required, or a small resistor
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500 ohm
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47 uF
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47 uF
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Not carbon track
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BC850

R17
499 ohm, 1 %

All 1 % resistors metal film or thin film
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47 uF
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3k32, 1 %
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3k32, 1 %
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47 uF
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4k99, 1 %

R5

4k99, 1 %

R2

47 ohm
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47 uF
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47 uF

R6
22 kohm

out

R18

47 ohm
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P2

P2: open by default, short it
if and only if you can't get the
circuit to clip hard enough otherwise
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220 pF
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220 pF


